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e+e- runs 
 

 

• x, y are from HYCAL 

• nphoton, nhycal = 1 

• |thycal-ttagm|< 8 ns 

• t1, t2 tdc on the two  

sides of veto counter 

• |t1-t2|<20 ns 

• |(t1+t2)-thycal |<15ns 

 



TDC alignment: a good example 

 

Left TDC for H6 
Run 65100 

Left TDC for H6 
Run 65100 

Left TDC for H6 
Run 65100 

Left TDC for H6 
All e+e- runs 

H6 is a horizontal counter right above the beam line 



TDC alignment: double peaks 

 

Right TDC H6 
Run 65100 

Right TDC H6 
Run 65101 

Right TDC H6 
Run 65102 



Tdiff(t1-t2) vs. x 

• No obvious relation  

found 

• Why? 

Bad Tdiff resolution? 

 

H6 all e+e- runs 

Tdiff, ns 

H6 snake2 


